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E—ERBEHE L (0~120kWh) :  18.99M/kWh = 21.33m8+3.26m+1.40m-7m
L ERFREHEE2 (121 ~300kWh) : 23. 46 /kWh = 25.50m+3.26m +1.40m-7m

LR 2 (301kWh~) : 26. 41 /kWh = 28.75m+3.26m+1.40m-7m

2023F7H EX[HEICKET HHE

HeXkiM F—REHNE:21.33A/kWh, BN &:25.80A/kWh, £ £:28.75M /kWh
PR¥ HERAEEM:3.26H/kWh ((REEH B B ffitg)

ﬁi’l ELRN¥—REREBMBREL: 1.40A/kWh (20235F5H~2024F4A)

AR EREREFHEE  -TH/KWh

e 4l BS LPHR  BEHR XT3t
(A BA)  (3.6MI/kwh) (100.4MJ/ 1) (45MJ /) (36.7MJ/0)
%_E’hp‘g 3 < 1)

(0~I205I:Wh) 1 8.99H 529F/m 237 /m 1938 /%

£=RE 23 46m

(120~300kWh)

654M/m  293@/m  239A/%

E=RIE 26411

(30 1 kWh~)

736MA/mi  330@/n  269A/%
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